pdf agym-ak07
Acoknon 1

a. -10+(5-8)-(4-20)=-10+|5+(-8) || 4+(-20) |=—10+| ~(8-5) |-| «(20-4) |=
=-10+(-3)—(-16)=-10-3+16=-13+16=+3

B 25+(18-7)-(16-22)-(14+30)=25+(+11)-[ 16+ (-20) | - (+44) =
=25+(+11)~ | ~(20-16) |- (+44) = 25+11—(-4)-44=25+11+4-44=40-44 =4

Aoknon 2
a. wyoet: (-5)-(+F2)=(-5)+(-2)=-(5+2)=-8

B. devioyvet : (-8)-(-3)=(-8)+(+3)=-(8-3)=-5
v. woyvet : (+5)-(+8)=(+5)+(-8)=-(8-5)=-3

Aocknon 3

a. (-5)+(-6)-(+3)-(-7)+(-12)-(-13)=(-11)-(-4)+(1)=-7+1=-6

B. (-7)-(+8)+(-3)+(+7)~(-3)~(+1)=-7-8-3+7+3-1=-8-1=-9

v, -3-(8-7)-(-12+11)-(5+2)=-3-(+1)~(-1)-(+7)=-3-1+1-7=-3-7=-10

5. 3-[2-(8+2)|-12—-(8-3)=3~| -2~ (+10) |-12—(+5) =3~ (-2-10)-12-5=
=3-(-12)-12-5=3+12-12-5=3-5=-2

& 7-(-8+3)-|-5-(10-13)-3]-1=7—(-5)~[ -5 (-13)-3|-1=7—(-5) - (-5+13-3)-1=
=7+5—-(+5)-1=7-1=6

oT. -(-3+1)-[—5+ (-3+7)-[-3-(-7 +1)ﬂ —(8-5)=—(-2) —[—5+ (+4)—[-3- (—6)ﬂ— (+3) =
=—~(-2)~| -5+4-(-3+6)|-3=2-[ -5+4—(+3) | -3=2—(-5+4-3)-3=2—(-4)-3=
=2+4-3=3



Aoknon 4
a) -2-/36-8(9-28)|=-2-[36-8(-19) |=—2~(36-8+19) = -2 -(47) =
= 2-47=-49

5) -4-(-5+3)-[6— (—4+9)+ (—l—2+7)} -(12-16)=—-4-(-2) —[6—(+5) + (+4)}— (-4)=
=—4—-(-2)-(6-5+4)—(-4)=—4+2—(+5)+4=-4+2-5+4=-3

7) ~(ByH(-12)-[~(+5)~(-12) |-[(-36) ] =—~(~5) + (~12) ~ (-5+12) ~ (+36) =
= +5-12—(+7)-36=5-12—7—-36=5-55=-50

1.1 3 2)_ (=241 , (3-4)_ (1), (_1)_
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£) 23,2 1,7 5 11 -9+4-1+42-25-11_-5+41-36 _
10 15 30 ' 5 6 30 30 30

o7) %—(—%—5+7J+(—4+8)—(%_5J:%_(—2—135+ 21]+(+4)_(1_710]:

1. (.4 ((9)_1 4 ,. 9 3-16+48+54_ —13+102 _89
=7 £+§J+(+4) L }4 3+4+ =

2 12 B 12 12

Aoknon 5

a) (=3) - (+5) - (=2) - (-4) = -(3-5-2+4) = -120

o[-0

V) (-2) - (+2) + 3 - (12 - 9) = 5 - (2 — 4) = -(2:2)+3-3-5:(-2) =-4+9+10=15

0) [3-(3-4)]-[5+(2-3)](6-4) = [3-(-1)][5+(-1)]-2 = (3+1)-(5-1)-2 = 4-4-2=16






Aocknon 7

@) (12+6-15)(-2)=(18-15):(-2)=(3):(2) =

b (Bt

R

7) [60.(—8).(-12)}:(-3)=[+(60.8.1z)};(_3):_[M]:

——(60-8-4) = - (480-4) =—1920

Aoknon 8

o 62'62 _ 62+3 _ 65 B. 23.24.25 _ 23+4+5 _ 212 y. 52_575 _ 52+(—5) _ 573 _

5. (7-3-2)2:72-32-22:49-9-2:882 6. (+§j :%:% ot. %:z o7
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Aocknon 9

o [ (-10)°] <(-10)"~(-10) 20" b 22272

0

y. (—2)3-102:(—8)-100:—800 5. (72-71) (72”)0:(73)0:73‘0:70:1

EHHE -+

oT. ‘. 6:1—24: 1972 -
12':12° =512 =12 = 1

Aocknon 10

a. (-3) =432=33=9 B -A=—(4P=-(44)=-16 7. (3P=—(3°=—(3-3-3)=-27

s [1V_2_ 11111 _ 1 oAy _ a1t _1111 1
" 13) 3 3.3.3.33 243 “l2) l2) 2% 2222 16
0. 00=000,..0=0 (0'=0veuowos | ¢ (102)" =(10)"* =10° =1.000.000
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0 3
(1.5) ., o_ (Y _ (1) (1)1
n. [E 2—3] =1 ,0" =1 yia xobe a=0 0. [ ?] = { ﬁl_ ( gJ—g
3
: Nt .24_ 4 N4 24 8 2 __23 __ 8
n.(za)_(za)_(z) (a)-lGa =16 L ng_(ﬁ_ﬁ
3 1’ 13 1 9 9 8 8
. -0,5 =—(§] =—[¥J=—g B (F1) =-=-1 w-PP=—(1%)=-1I

5. 24=—(29)=—(2-2-2-2)=-16 € (2 =+(2)*=2-2-2-2=16



Aocknon 11

F10)" 28 565 (<10\ (207 (56T | ot (agl (o0
A=ty —73+285:[ = ] —[7] +[2_8] =(-2) (3| +(2) =+16-27+32=21

Aoknon 12

,Ax=(—7+5)‘°’-{—(6—2)2 +33} =(—2)?’-{—(4)2 +27}=(—8)-(—16+27)=(—8)-(11):—88

B:(3—5)2—52:{8—2-23—(—1)6:(—0,25)}:(—2)2—25:{8—23”—(1):(—%)}:
:4—25:[8—24—(—1-4)}=4—25:(8—16+4)=4—25:(—8+4)=4—25:(—4)=
=4—(—25-4)=4—(~100) = 4+100 =104

Aocknon 13

A (_2)15 _38 .59 B (_2)15 .38 .59 B (_2)15 _38 _59 B (_2)15 .38 .59 3

47.36.054 (22)7 .36 _(52)4 o 227,36 524 o ol4 36 .58

15
—2 8 &9 -
( 212 S5y =—(2)" 3058 = (2)- 3.5~ 2.9.5 =90

B:(_3)2+23_(_2)3- 2*+1 _9+8-(-8) 16+1 _17+817_ 2517 _

(-4)2-52  —2.(-1® 16-25 2.(-) 9 2 9 2

_14.691_ 1 61_ 1 12 -1+12_11
-89 8L 29 9 1818 18 18




Acknon 14

2 3
B. 82-93-56=(23j .(32] 56 =223.323.56 = 26.36.56 = (2.3.5)6 =308

7. (3%)2+310:9+3°.33-2.39 =342 +¥+35+3—2-39 =3 +310-2138_2.39=

—3PB4+3B4+38-.2.39-3.38_2.39-31.38_2.39-3148_2.39-39_2.39 =

=—1.39=-3



